Total number of printed pages—11

4 (Sem-6) ITB

2024

INFORMATION TECHNOLOGY
IN BUSINESS

Paper : 601
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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1. Choose the correct answer for the following
questions : 1x5=5

oS Al 2R o Tecet IR Svea ¢

(a) What was the basis of the second
generation computers ?

ST (ST SFITHPTIRT SR & wiftet 2
(i) Vacuum tube
A oo

Contd, ..~ -



(i) Transistor
(GRfEEs
(iij) Integrated circuit
BCBCABS BIfF6
(iv) VLSIC
X RGLAC EA
(b) What is the function used to add the
range from cell Al to A10 in MS Excel ?

MS Excel® (%51 A1 9 */l A10 A (7 <D
Tt TR [T FIHA I IW W2

(i) = ADD (Al, A10)

(i) = ADD (Al : Al0)
(i) = SUM (Al , A10)
(iy) = SUM (Al : A10)

(c) The operating system that manages
more than one CPU is called

oL @R CPU 3 1301ew 3 Sioiicais e
QT 27 |
(i) Multiprocessing operating system
ez i e

4 (Sem-6) ITB/G 2

(i) Multitasking operating system
AFEOIRR Sicafde forew

(iij) Multiuser operating system
IS St Hras

(iv) Multithreading operating system
B Sticafs e

(d) The program that is used to view a

webpage is known as

RRCHIGT B! BiKiteT IS I 2P
QN =

(ij Search web
516 R

(ii) Search engine
o1 e

(iii) Web browser
R e

(iv) HTTP
CEGNIAAL S
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(e) The computer network which is

b) ISO-OSI model has seven layers.
confined within a small geographical () Y

area is known as i ISO-OSI wif3g Freb ©39 AT |

<51 I (SN TIeTS Bz FfITh | (0 ROM is also referred as volatile
HaRE B QT 2| memory.
(i) LAN THE S G R IS R =
(d) ClipArt pictures cannot be inserted in
(i) MAN a slide of MS PowerPoint.
i\ | MS PowerPoint-3 ¥i27® ClipArt-3 SRR
(i) WAN o TG FRA FRIR
R | (e) A hub is a common connection point
(iv) Internet for devices in a network.
100 [ T @5 GO AR TS
A [
2. State whether the following sentences are
true or false : 1x5=3 3. Answer the following questions : 2x5=10
TS Al AR 9F (@ TYw TR I 8 weTs il emprRa Tew fam
(a) ‘High Level Languages’ are machine (@) What is the usage of secondary memory
dependent language. in a computer ?
‘2T (@Tow RIS TE T MO ol | IR e (M9 GIr'Ra IR /e
\
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(b) What do you mean by IP Address?
IP «rgy s & goe

(¢ What is deadlock ?
oo &F2

(d) Mention two basic features of fourth
generation computers.

o CEIN FRATORR 767 & (NS S
;M|

(e) What is a worksheet?

IFRG e

4. Answer any four of the following questions :
5x4=20

weTe Al erPR Rt sifabre Oed famt ¢

(a) Explain the functions of RAM and ROM.
@ O T I P |
(b) Differentiate between ‘single user’ and

‘multiuser’ operating systems with a
suitable example.

“Beore] 28T’ AT ‘NFHITHIX WAIRDR BT
BRIRIIE aten [SiT /11
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(c)

()

(e)

Mention the basic features of

MS PowerPoint.

MS PowerPoint-3 (e (@ gz S
|

What do you mean by WWW ? Discuss
briefly.

WWW i & @2 590 el 711

Write the differences between compiler

and interpreter.

TR IS TOREORT Ters o1y &

What is communication channel ?

Briefly discuss about any two

communication channels.

CRISCA TG 2 Rpieen 751 Ao NG
R vt SitEva =1
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S.

(a)

(b)

(@)

Mention four basic features of digital
computers. Briefly discuss the
functions of the basic components of a
4+6=10
Tefehe SIS 5130 ChfeRs (afRe) S

T | FITHE GBIF o1 ST IR b
S 3 |

Or / 33t

What is software? Discuss about
different categories of software. Explain
the basic functions of an operating

computer.

system. 1+4+5=10
SR 52 DeRRE Riew Rt st

34 | SRR e B I 3T w1

What is network topology ? Briefly
discuss about different network
topologies. Name the layers of the OSI

model. 1+6+3=10
GG B's1'e7 &7 2 RS o Bster” o

B TG 31 | OST SRS SIS AR
T = |

4 (Sem-6) ITB/G 8

(b)

(@)

Or | #3231

Briefly discuss the role of Information
Technology in Banking and Insurance
sectors. 10

R o T A o oYfeR ol bite
S 41|

What is Word Processing ? Mention the
steps required to create a table in
MS Word. How do you perform the
following in MS Word ? 2+2+6=10

S iR [F2 MS Word © (5351 @A

TR FRAE AT TR S 4|

MS Word © @&1e MAPTZ (&S T~

FAr?

(i) Insert a new row in a table.
I 9IS @B} T *<) TWGS 1 |

(ii) Delete a column from a table.

(5FF1 AT #I9 B GBI (IR 1 |

(iii) Merge two cells in a table.
(BFET AT VB! (=& Tl |
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Or [ A i (c) File system
(b) Mention the main features of MS Excel. Pige oo
Explain the usage of the following

functions in MS Excel. 4+6=10 T ERYES

MS Excel ¥ 3] QRERTR Srad 91| O7©
fira TG MS Excel © IR I 4 |

(i) AVERAGE
(i) COUNTIF
(iii) MAX

8. Write short notes on any two of the
following : 5x2=10

woTe o faceeirat woI9 B (O ol

(@) Micro and mini computers

M o i FIEhR
(b) E-mail
-9
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( d) Machine language

11
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